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QUESTION 1

What are the features of New Open SQL? There are 2 correct answers to this question. 

A. Supports arithmetic and string expressions 

B. Supports Code adjustment model 

C. Supports specific units of database 

D. Supports conditional expressions 

Correct Answer: AD 

 

QUESTION 2

You want to execute a native SQL statement in your program. Why should you use ABAP Database Connectivity
(ADBC)? (Choose Two) 

A. It has syntax check as compile time. 

B. It supports exception handling 

C. It supports locking and commit handling 

D. It supports where-used list. 

Correct Answer: BC 

 

QUESTION 3

Which of the following option is not the main capability of SAP BusinessObjects Analysis for OLAP? Choose the correct
answer 

A. Create data by members and tables 

B. Insert filter components 

C. Swap axes 

D. Create Presentations 

Correct Answer: A 

 

QUESTION 4

In a Graphical calculation view you want to implement a union between two result sets that differ only in the fact that one
of the two has one additional field named ADDRESS. 



How can you achieve this in a union node? There are 2 correct answers to this question. 

A. Create an input parameter for the ADDRESS field 

B. Exclude the ADDRESS field from the union 

C. Create a restricted column for the ADDRESS field 

D. Map the ADDRESS field to a constant value 

Correct Answer: BD 

 

 

QUESTION 5

What output does the SAP HANA provide as a unique combination of hardware and software innovations? Please
choose the correct answer. 

A. Huge potential to optimize business applications that are running on SAP HANA 

B. The ability to create new complex processes with ABAP application cloud 

C. Huge potential to optimize AMDP application DATA Tables 

D. Huge potential to maximize the number of disk blocks in the application 

Correct Answer: A 

 

QUESTION 6

ANSI SQL owns features and adds languages. These languages divided into three parts. What are they? There are 3
correct answers to this question. 

A. Data Manipulation Language 

B. The Data Control Language 

C. The Database Language 

D. The Data Definition Language 

E. Data Transferred Language 

Correct Answer: ABD 

 

QUESTION 7

Your ABAP program contains an Open SQL join of two client-dependent tables. You want to replace this with a native
SQL SELECT statement. 



Which of the following changes to the SELECT statement can you use to retrieve the same data as before? 

There are 2 correct answers to this question 

A. Include the client field in the field list. 

B. Include the client field in the WHERE condition. 

C. Include the client field in the join condition. 

D. Use the CLIENT SPECIFIED addition. 

Correct Answer: BC 

 

 

QUESTION 8

What is an attribute view and what are its practices? There are 3 correct answers to this question. 

A. May contain filters 

B. Used in diagrammatic Projections 

C. May use in calculation views 

D. Used to join tables 

E. May contains flow charts 

Correct Answer: ACD 

 

QUESTION 9

In order to get language-specific data, which join is used in SAP HANA? 

A. Referential Join 

B. Language join 

C. Text Join 

D. It is not possible to fetch language-specific data in HANA 

Correct Answer: C 

 

QUESTION 10

While creating a Graphical Calculation view, what are the options available in Tools palette? (4 answers) 

A. Union 



B. Cast 

C. Aggregation 

D. Projection 

E. Join 

F. Distinct 

Correct Answer: ACDE 

 

 

QUESTION 11

You define a core data services (CDS) View. For which of the following expressions and built in functions must you
provide alias? There are 3 correct answers to this question. 

A. CASTE Expression 

B. CASE expression 

C. Currency Conversion 

D. Nested CASE expression 

E. Unit conversion 

Correct Answer: BCE 

 

 

QUESTION 12

Which of the following objects can you use in the ABAP layer when using the top-down approach to bring code to data?
There are 2 correct answers to this question 

A. Calculation views 

B. ABAP managed database procedures 

C. Stored procedure 

D. Core data services views 

Correct Answer: BD 
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